BR7KEEAA TN\ RV o

WATERPROOF FLAT SWING HANDLES
AB-401A~403A

OB ORGFEAEDNVT - NYFIFE FKEFRELOTOE
Feature 4§,
O EERMARGH (EANKEIS. LHEEARESE
BRLTFZL.)

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

#  H e@$ps{% (ZDC)

FELIE e FSAMN/OLDHOE

B & oRER TR FlEE Z0m&EBOX

fii % eF+—&FS 'H200

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Electric distribution and control panels,
etc

Remarks @ Key No / H200

KARMODIEHERFT RIS ARABH DS [#RAHBHIER
DEHEHRBRLET

#l
AL
&
#
-
#

JAYA 92
avy

AB-401A-1

m & fii |8 E(@®®)| A & B ffi
Product No. Remarks | Weight Lot Price
AB-401A-1 FfFE 388 40 ¥2,000
AB-401A-2 L 382 40 ¥1,800
AB-402A-1 ffFE 291 56 ¥1,700
AB-402A-2 L 292 56 ¥1,500
AB-403A-1 FfFE 225 80 ¥1,600
AB-403A-2 L 223 80 ¥1,200

AB-402A-1

*—%S H200
Key No.

AB-403A-1

25



AWBAKLE

AB-401A-1 - with key o
AB-401 A-2 (x—m without key NIEL

WA

avy

11.3 12.5 Dimension of mounting hole
33 Bh7K/¥y%> /1.0 .
h M6 x 12 LN— Revolving central
/\ Waterproof packing [EIETRE2V posntlon of handle
\ 0 . \
| 2 | - ‘ ]
( : 1= & R T+ J
NS / \
_ A/ . |
[E#RAZ90° " ’ TR ES © ‘
‘ Tunoo" ./, | (t1.6) 2 ~ :
1 S k Adjustment - — |
s 8 | \washer |
S I\ e c44-1 |
S (t3.2) |
‘ |
| {%,ﬁ p . Stopper plate 1
; TR w 27
! 7 Installation plate ‘ H200&x—
~ 88 | Key No. SEAEREI 11.2~2.3mm
(88) 26 Panel thickness applicable to install
AB-40ZA-1 - with key
AB-402A-2 x—m without key
WEUTRT &
11 12,5 27 65 Dimension of mounting hole
30 BAK/SyEL 1.0 M5 x 10 40
Waterproof packing 2-¢p4.2 L/3—— Revolving central
| g( [EIETR2 _\position of handle
1) 2 | \>/ { | B
5 & s 1B
SRl 7 0 i
|| =&EmEoor N e e o~ G |
‘ Turn 90° // 1 (t1.8) I % % 18 © \
L / P ‘ Adjustment | Q |
R h :
/- . T H\XZS;LC 44-2 - %ﬁ |
i ~4- ~2-M4 x 8
’7{$E’}’ N 4 o / (t23) ] Heshinalo E X g !
N1 M Stopper plate p ‘ ‘
| ] 1 I 24
- ;)L WA 4R V
(73) Installation plate H200%*— —
‘ 23 Key No.  -@EARERER. t1.2~2.3mm

Panel thickness applicable to install

AB-403A-1 E—with key
AB-403A-2 @—m without key W Rtk
Dimension of mounting hole

11 12.5 27 65
28.5 Rh7K/¥y%2 /1.0 M5 x 10 40 0042 L/S—— Revolving central
Waterproof packing ?( : [EIESR2N _X)osition of handle
: =L |
- g E 7 - NI |
- / /,’/\\ / washer o <>Q> %ﬁ ‘
4o E‘L\iwﬁ/o 442 =) © |
— H gtzcx?p))er plate i? M xe \ 24
= ﬁ?s{?eﬂﬁon plate H200EX—  ymeipmis t1.2~2.3mm

Key No. Panel thickness applicable to install

26



